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PART -1 /¥ - |
GENERAL AWARENESS / M4 SIRTO Ol

i & ferenfeldi ST STezTTehi
1, Students’ and Teachers’ Holistic { 1. Wmaﬂ E]

EbE gl
Advancement through Quality Education ; gafior e ( )
(SARTHAQ) is an

(1) fafures forem & faw ureta foan Hifa

(1) Indicative and suggestive NEP Frar=ra Al orae 3R fFeus

implementation plan for Legal
Education

e &1 wiae 3R fEus

implementation plan for Higher
Education

(3) et e o forq T foven ifd =T

;
|
|
%
(2) Indicative and suggestive NEP; (2) s Faen <6 fere i foven =Hifa st
|
|
|
(3) Indicative and suggestive NEP%

implementation plan for School ! AT 1 Eaes AR HE9H
Education !

(4) Indicative and suggestive NEP i @ ENIE] f?THT %+ fou u=ta fen Hiia
implementation plan for Technical EaRIEEPE| Iﬁ\_rFiT &1 s AR e
Education ]

2. Sired et A HeweW i e vw (qromera)
S W ST | SR g 39 WY YR el

2. Johann Gutenberg developed the first-known
printing press in Germany. Which was the

LR Y N s e s AL ST YL A

first book he published in that press ? Uik ShiA Gt off ?
(1) The Magna Carta 4 1) <= T I
(2) The Republic | 2) < Tufsrs
(3) The Bible H jff = Az
(4) The Odyssey l (4) < oMfewh
PGT-HIN-2023 533 2 Q2
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Which of the following statement(s) is/are
correct about ‘India State of the Foresl
Report’ (ISFR) ?

(A) The first State, of the Foresl Report was
published in 19-17

(B) The report 1511a-=.ed on the biennial
assessment nf;}[ﬁ;ﬁa's forests carried out
by Forest Survey-of India (FSI).

Based on the ISER 2021 report the total
forest cover of the country is 21.71% of
the total gegéréphical area of the

(©)

country.

The ISFR 2021 report shows a decrease
of forest cover as compared to the

(D)

previous assessment.

Choose the correct answer using the codes

below : .

(1) Only (B), (C) an_;:fi‘_(D) are correct
(2) Only (C) and (D) are correct

(3) Only (B) and (:'_.'Z_){are correct

(4) Only (A), (B) aﬁé(C) are correct

— —

]!l 1[ ]

Assertion (A) : e
Both India and the USA have bicameral

legislature.
Reason (R) :

The upper house of the legislature in both the
countries has an equal number of seals

reserved for different states.

Choose the correct answer from the codes
below : f__

(1) (A) is wrong but_(R) is correclt

(2) Both (A) and {R)are correct

(3) Neither (A) nur__(R) is correcl

(4) (A) is correct EEL(R) is wrong

|
|
|
|
|
|

i

1

|
|
|
|
|
|
|
|
|
|
|
|

3

)

| 4.

e e 3l 3w frie! ( 78T, U, 247 )
S iy 3 Freifa o B A T/ A F T E/7 7

(A) TEell e sif = iz frid ad 1947 §
gepTfera & ol |

e frarE a9 Feaam (TR, TH. 4TS, )
T I B

. T UE AN, 3 g 2021 # A F
STUT T 291 o el dimfersh a7 = 21.71%
GRS IR

(B)

(©)

TS TH.TE. AR, 2021 F wfaaed H e
qeiehA <l qetl T gar=aifeq 49 9 39
S AT E X

3 feu U e § F wE fasheq 9T

(D)

(1) W(B),(C)ﬁr{@ﬁﬁ%l
(2) Fae (C) ¥R (D) §El
Faa (B) 3R (C) HEl B
(4) Fae (A), (B) 3 (C) W T
Afuere™ (A) ¢

T 3T 9.3, Tt 2 | faer faumEee
Tl

v 0T (R) :

ST 29 3 faumHee & S= HeA | -3
uﬁf#maﬁmﬁﬁﬁ#@rﬁm%

i fau 7o e § | wE W A

(1) (A) e @ faeg (R) W& @
(A) 3T (R) Q1 6l €
q 4 (A) TE (R) TEE
(A) Tt & fobeg (R) 7T €|

Q2



Assertion (A) : 5, AfHRAT (A) :

As part of the major reforms to Union

|
|
Budget, the date of budget was advanced to ||| T T m"ﬂﬁ 1 ai@ 1 wadl fauifa =l
|
|
|

1 February for the first time {from the Budget

for Financial year 2020. TS |
Reason (R) : FHTT (R)
Ereicy
The advancement of Budget date has been ERi H’(ﬁﬁd EaiGECIENE <I5h I NP
e e e A P Fruffd 1 T €

done to enable early completion of the Budget |

cycle.

Choose the correct answer from the codes

S ﬁqm%fﬁﬁuﬁraﬂ?ﬁm :
below : .
(1) (A) is wrong but (R) is correct (1) (A) TTedd ? for< (R) e 2

!
!
!
!
(2) Both (A) and (R) are correct and (R) !l \Jgf (A) 3T (R) S w@l € AR (R) T (A) F
i amﬂ@‘rﬁ%l
!

(3) #ﬁr(A)ﬂﬁ(R)ﬂé%l

explains (A)
(3) Neither (A) nor (R) is correct

(4) (A) is correct but (R) is wrong (4) (A) H‘ﬁ_%m (R) TTeid 2|

6. a9 2023 H amfrfr:m Hfeen 1 i 2120 9

Which team won the 2023 Women T20 World : T

Cup ? | o ) foror &F HA € T2
(1) India % (1) o _

(2) Australia § () st

(3) England % (3) Fe

(4) South Africa % (4) & TSI

Who was awarded the Sahitya Akademi § 7. a9 2022 1 HifEd STHTIEHI a1 T =< e
Bhﬂﬁhﬂ Samman 2022 7 w‘}

(1) Krishna Bhattacharya

(2) Chungkhan Yashawanta Singh
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8. "Milpa’, ‘Roca’, ‘Ladang’ are different names
of which of the following ?

(1)  Shifting cultivation
(2) Open-cast mining
(3) Earthquake waves

(4) Rain water harvesting

9.  What do we call the process through which
bacterial and fungal enzymes degrade
detritus into simpler inorganic substances ?

(1) Leaching
(2) Catabolism
(3) Humification

(4) Fragmentation

10. According to the National Education Policy
2020, by which year the Gross Enrolment

Ratio in higher Education including

vocational education is to be increased Lo

50% ?
(1) 2030
(2) 2040
(3) 2035

|
; 9. I UHH T 1 el ST & [orEeh HIEAH | S
|

e E R U T TR T T P i)

|
|
|
|
|
|
|
|
|
|

8. ‘fueq ‘', e, frifead # A fREeE ST

ST AH @ ?

(1) Fermaf Fi
(2) forga @
(3) Y I T

/\/(4) Ul ST G99

3T FaF F TTEH WS Hi AgH T
T gerd § STasHd Fd © 7

(1) e
(2) 3I=d

37 BLESIRE
(4) @srvad

10. U@aﬁlmﬂ‘rﬁmgo%w,ma&w

sraraiaE e afed S faen § e TS
1 ST 50% T TG ST 1 A8F § 2

1) 2030

(2) 2040
(3) 2035
(4) 2050

Q2



PART - 11 /YT - 1l

REASONING ABILITY / T &9dl
|11, ‘M+Q &1 a4  fF M, ‘Q T 2

]1. ¥ il F ¥
M+Q" means ‘M’ is the wife of ‘'Q’;

i F
M -Q’ means ‘M’ s the father of ‘Q’;

Jh ’ ” 5 5
IXQ" means ‘M’ is the daughter of ‘Q’;

'‘M+Q’ means ‘M’ is the son 1‘ EY,
fFA+Bx]J+U— D, how is ‘B’ rblated to ‘D’ ?

(1)
(2)
(3)
(4)

Brother
Sister
Aunt
Mother

12.  Three statements are given, followed by three
conclusions numbered I, IT and I1I. Assuming !
the statements to be true, even if they seem l
to be at variance with commonly known l
facts, decide which of the conclusions j
logically follow(s) from the statements.

Statements :
1.  All pinks are scarlets. il 2 e
Z. Some scarlets are bluis:, AU e’
pet it
53 No blue is brown. @%’ @

Conclusions :

I
II.
I11.
(1)
(2)
(3)
(4)

Some browns are blues.
No pink is brown.
Some scarlets are pinks.

Only conclusions II and III follow.

Only conclusion I follows,

Only conclusion Il follows.

Only conc usions | and [T follow,

Ifilgﬂ=
PGT-HIN-2023 i

|
|
|
|
|
|
|
|

—

12

M—Q 1 a4 % M, Qi faa g
MO 1 a4 & M, 'Q F T E
M+Q F1 A4 % fr /M, 'Q FI AT

afe A=BxJ+U~D €@ ‘B &1 ‘D F 7
gau &2

(1) = @’—’—'@
SO Rl o

aN—"D

A
< nﬁdwmmﬁmaﬁaﬁﬁﬁ{ﬂ,n
3 11 few e &1 e fo TG FAA B
AT £ =978 9 993 91 929 9 9= #4417 @
aq fofg wifee fF feu 7o a5 8 3
1/ FeAE | A €9 9 e 5/2 7

A :
1. Gl 7o, e O (Sfed) B

F9 T T, A & |

2.
3. @i off e g = 2
feand

. FORAAZIA

[, <18 ot Temet O el gl Y
. %o o T (Sifed) et g1

M) Haa fred 11 SR 11 e €
(2) e ferd 1 feneran ©
(3) FHaa frerd 111 feerar T
(4) hact frerd 1 3R 11 feherd €

Q2



| 13, afg '3, ‘afeqor-afgem’ 7 S & @ A

13. If North becomes South-West, then what will

West become ? 1 @l "311‘1"" 7
(1) North-East (1) EGLEE
(2) North-West--~ (2) Sw-ufrEm

£ t

ey W

(3) South-East=; "

o Ii_:"_

|

e
Py | I M

|

|

(4) East ___E @ ‘f:f

14. A 9 Fue few M ¥ famE 9 =n e
[ 11, 111 3R Iv few 7u 21 STqT FA1 H Tl
o S 9T § g I aed 4 e i A E
WWWWﬁmmﬁﬁﬁﬁﬂﬁ
1/ weE @ Ak w9 F e 8/2 2.
ﬂﬂ&ﬁ: we s

14. Three Statements:éirgé given, followed by four
conclusions numbered [, II, IIT and IV.
Assuming the statements to be true, even if
they seem to be at variance with commonly
known facts, decide which of the conclusions

logically follow(s) from the statements ?

o hdH

e

Statements :

= ik =
| =L

1. All boats aré_ﬁshes i 1. W e Akl © > E,ﬂ

E

>3 0.  Ho ASfaEl A B

2. Some flshes_:axie rivers. !

3. Some rivers_;_ are sailors. | 3. g At A g
Conclusions : - frren

L. Some sailors are fishes. % \/ RO EIEED mRfaai gl o ﬁ:ﬂ:

I, &0 - Afae® € | 4

| ., FoAf@iaaal

| V. Fo wofaEl 7 T

(1) Only cnnclusmns 11 and 11 follow. (1) ae fred 11 3R 11 Feperd 1
(2) e frepd [V e g

\)zfmﬁmil,naﬂﬂvﬁamﬁ%.
(4) Faa e [ 3l 1] fererd &)

I1. Some boats are sailors.

[II. Some rivers are boats.

IV. Some fisheg} are boats.

(2) Only conclusion 1V follows.

(3) Only mncl-_lisi{;ps I, Il and IV follow.

(4) Only cnncl?g{ib?s I and II follow.
o




15.

16.

T 3
an statements labelle
ea
son (R) are give

statements carefully
AN

d as Assertion (A)and | 15

1

|

Consider both the

Asserti = T
rtion (A);“-.J?“““ has the potential to

) _mﬂke its Handicrafts
4 industry a very flourishing
g ‘ 'SIECtDI'.

| |
Reaso o i 3 I

n (R) : . India is a home to a very !
. large number of craft forms

___including textiles.

Select correct answer with the help of code. ’

Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(1)

(2) (A)is false but (R) is true.
(3) (A) s truebut (R) is false.

(4) Both (A) Eg.ndp(l{) are true and (R) is the
correct e:{p}g_'i‘tatiﬂn of (A).

!

- =

e

e ma—
=" )

=

Eight friends J; K; L, M, P, Q R and S are 16.

sitting around ._;:i_‘:sguare table in such a way
that all are facﬂ‘-tﬂgtc}wards the centre of the
table. ‘L’ sits in the middle of the side. P’ 1s
second to the left of "M’ ‘Q’ is exact right of
'K’ and is sitting in the middle of the side. ‘P’
doesn’t sit with ‘L". "M’ sits exact right of ’J".

Two friends are sitting in between ‘M and
ft of ’]’. ‘S is exact

|
|
|
|
|
|

‘G’ 'R" 18 second. to the le
/K’ s third to the left of ‘L.

left of ‘L. |
Who sits fourth-to the right of K7
£ .:.-.’. 5 Gl.
1) P
2) R | g V“l
VAR B Ao
(4) ] /_,.H,ﬂ,/i |

. A Q) wem fau e § SR tfusmed (A) 3R

ik (R) % &9 § S0 T2 | S Rl W
q fa=m #ifs |

AR (A): YA & U AT eE(ey
ST ol Weh ST & FH
%1 T B |

% (R) : vy # = i gfed agd
T2 wen H fored 3 €

9 feu T F2 B TeEd ¥ A SW H T
|

(1) (A) 3 (R) 2 @@ € fohg (R), (A) F

& AT e ¢ |
(2) (A) T & T (R) T €
(3) (A) W@ & T (R) T €
44 (A)ﬁ?(ﬂ)ﬁﬁﬁﬁ%aiﬁ(mr(ﬁ}aﬁ
el AT ¢ |

STBfQHJ,K,L;M,P,Q;RaﬁISWETﬁER
ﬁa#mﬁmwmﬁﬁé%ﬁwﬁmﬁg
¥ e AR L e A e
21 P, M 3 T S TR H WES R 1Q,
‘K’ﬁwi{rﬁaﬂt%aﬁ?ﬂm%ﬁhﬁﬂﬁr
@ngl P, UFaE T el M, T E
R RC(L 1 I A Vil i i KRG
IS IR, ‘]’ﬁmﬁaﬂq@wméa%rsz
*L*%mﬂaﬁaﬂﬁa%rw,*v%mﬁsﬁr
Y T W 3T § |

K 3 et 3 9 T W A 431§ 2
(1) P

2 R

3) S

4) ] L

Q2



n,mwmﬁmw%fau%mwﬁwﬁr,n,

17. A statement is given followed by four | 17,
conclusions numbered 1, 11, 11T and 1V. 1 st v fau mu €1 wUA ! A °Fd g0 T8
Assuming the statement to be true, decide fof =ifso far fgu o frepdf o | FE =3/d
which of the conclusions is/are definitely l frerd Fafoaa &9 § 9 8/% ?
true. l
C VW P
Statement: C = R>D<E=K>P I HFAT:C=R>D=<E=K>P
Conclusions : I frrend ﬂ
L. C»D | LANE S D
1. K=<D E II. K<Dnx
I. P<E I III. P<E -«
(1) Only conclusions I and III are true. % ) had frepd [ IR THT ©
(2) Only conclusions Il and IV are true. I 2) frepd 11 3R IV EAF & |
(3) Only conclusion IV is true. ! (3) Had e [V 8 ©
(4) Only conclusions I and II are true. % (4) had Fepd [ SR I 8 g
18. A patient has been given a medicine schedule. | 18. T TSt I T <9 iRt o T8 | 3HE 318 A1
There are eight medicine capsules. S, T, U, V, én‘EIFEf -S, T, UV, W XY Az 1 S
W, X, Y and Z. Which have to be taken each frefeafad | & STHR W g feq fau s
day based on the following conditions : T
(i) Capsule ‘S’ must be taken sometimes () HIEa‘S 1T 3R ‘W q gget T o
before ‘T’ and ‘"W, feran =g v RSV A Y 15
(i) “T" must be taken immediately before | ) ‘T %1 V' § denrel e fer FIW; o
IVF"
& @ ¥ F l L i .l' ‘//
(ii) Fourth capsule must be L, (iii) Tzﬁiﬂﬁ?‘ilﬂ?l U’ 211 918
(iv) Y’ must be taken immediately before (iv) v @l ‘X F deEnld g foran S v
JXI: \7’ .}:\
(v) ‘Z mustbe taken immediately after "W, (v) ‘Z AR o 0 GBI R S RIBS I o
(vi) Y’ is the first capsule to be taken. (vi) ‘Y’ HIR[A oy e foran S N
Which of the following statements is false 7 faefafad § 9 A 91 6y Ted g2

‘U’ must be taken between ‘S and 'T".

(1)
(2)

The sixth capsule must be V.

(1) ‘U g ST S s fern S e T
(2) w31 FuEge Vv B e T

|
! B T ‘S F el a1g ford S §
|

—

| o 0

(3) ‘T is taken immediately after ‘S’
(4) ‘X is taken before ‘S’. 4) ‘X 1 ‘S’ ¥ ggal feran S . P
g e VW
PGT-HIN-2023 & 5 4R BN . L
I ¥ l E Py Q2
3 “

e NS b



19.

Statements | and 11, ¢

Given below js

a4 question, followed by two |
ach containing some l

information, Decide which of the statements I
is/are sufficient to answer the question. I
How is Kushal related to Meenakshi ? I
Statements : l
I Kushal is only son of Meenakshi’s !
brother-in-law., }
II.  Garvita is Kushal’s only sister.
(1) The statement IJ alone is sufficient to |
answer the question while the
statement I alone is not sufficient. i
(2)  Both statements I and IJ together are !
fecessary to answer the question. i
(3)  Both the statements I and 1] together are !
not sufficient to answer the question. I
(4) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient.
G 4
= 1.0 RV
- F:_ "L' ;
258 q 1 I8 10 2l e
v I
20. Select the letter cluster that will replace the ?
question mark (?) in the following series _ i
1L 33 1) M b Qe
o TIATT ¢ K7™ as |
£9 . 2275 BVU, ZXQ, XZM, VBI, TDE, __? |
P o AV
S 26 24 V] 29 9 il i
RFA j}? 2 I
Q 5 26 |
e
(3) FRA VS b
A 22
..-"’\-1 \5
(4) RAF A .
‘5 11 g
%%? 2 @ 10
PGT-HIN-2023

19.

20.

9 ek weA e T ¥ e a1 S e 1 s
Il ﬁ;quTq%I o wedsh | 9 T & T §

23 & fou i« 2/8 2 . |
Tl |

YTl 1 WA | 1 T T |
w9 E
. pue, WA & S/ <A F THIH IF §
[I.  Tifela, 9l i TehAT 984 2 | |
(1) A I A 999 1 SR A F fog v
¢ Safeh H2F | 3l Y99 F1 W o9 &
fere i =& # | :
__3
(2) YA 1 3R e 11 SHI ATt 999 &1 ST ]
< o feru stmavas €|

(3) U1 IR FHUA I gHI THAFT T 99 0

4

IW < F o gaim =5 ¥
FY [ 3Thc] T &1 ST S & o0 9T
¢ Safh HUF 1 3Tohel U9 1 59 29 §

feTu vatE =8 7|

Frafafed een § v 5 (2) & =m = o
T &R FHE T 5T 1 |

BVU, ZXQ, XZM, VBI, TDE, _ ?

A1) RFA
() FAR
(3) FRA
(4) RAF

Q2
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. Refer :
21 to the following letter sequence and
answer the question :

(Left) SBTMRESICZYOWAPDFH
G U L (Right)

Which letter is fifth to the right of the twelfth

letter from your right end of the given
sequence ?

1y %
2) P
3) W
4) R

99. Lakshmi starts from point ‘A’ and travels
2 km Southwards to a point ‘Z” and then turns
right and travels twice that distance to reach
"y’ She then turns left and travels five fimes

the distance she covered between point ‘A’ i

and ‘Z’ and reaches point ‘X". From there
she turns left and travels 4 km to reach

destination ‘B’. What 1s the shortest distance

between the points ‘A" and ‘B’ and what 1s

B’s direction with respect to ‘A"
(1) 12 km, South

2) 8 km, North

| 21.
|

I

11

I ST

” |
(af) SBTMRESICZYOWAPDFH
G UL (=) ‘

ﬁamwﬁamﬁaﬁaﬂiﬂaﬂaﬁﬂm%

2Tl 3R =l e hiA AT © ?
1) X
A2) P
B) W
(4) R

{ 22, wext ‘A’ fomg 9 =@ 9T Sl © AT SfRT =

337 2 Fop. Y. = ‘Z7 forg W ugEdl § 3R TR
e/l IR gAd ¥ qel Teei aR il AT g
aﬁ@aﬂm’v’ﬁﬁmqﬁﬁél ERSED
914 qﬁﬁlﬁaﬁ'{%ﬁ%ﬁm‘ﬁaﬁ?‘z*ﬁﬁ%
S 7 =1 T g H ure T gl 99 e X
ﬁﬁﬂ?ﬂé’ﬁﬁ%aﬁﬁaﬁmﬁaﬁr{@ﬁ%aﬁ?
4 FoF T, Y ‘B’ TT=Ie e Ygedl & | (A 3R
‘B'ﬁgaﬁéﬁaﬁﬂzﬁﬂqiﬁmﬁ%amwﬁ
B feafamde?

N
w12 fer. =, <f&™
2) 8f®AL, W W™ v
(3) 8 f&m, ‘crf“an:'l1 E
'
(4) 12 f&HL, ST |
Q2



23. Seven children K, L, P, R, T, X and Y are I 23. "@aEH K, L, P, R, T,X3RY T W 99 i
sitﬁng on a straight bench fncing lowards , I FHl AR '{E_I?_E»' FLh 93 Bl X, Y & Usheq

North. ‘X’ is sitting immudiﬂloly left of “Y’, T A =S B I{_ ‘R &P [RETGL
‘T’ is the immediate neighbour of ‘R’ and ‘1. ggrE 21 X AR Y’ 'L F T Frehean REL

-

Neither ‘X’ nor ‘Y’ are the immediate T e I'P, ‘'L & a9l AR @Fﬁ TIH W A3 7
neighbours of ‘L’. ‘P’ is sitting second to the

left of "L’.

Who is sitting at the second position from the II et 2T g E;H"E T 9T A 93] -,

right end ? I

B Ty “% g T Fwld @ T

2) k h -i f—H \(27/1( 74 Y 5 i i f: ; F‘}T
3 P @) P L——t | N
(4) R m RN T i

24. Given below is a question, followed by two | 24. 9 Tk 994 fear %’ﬁrﬂiﬁﬁ"ﬁ 2l ERER! S 1K
statements I and II, each containing some II fega § | Wmﬁ@ﬁ'lmﬁ UER S

information. Decide which of the statements g g wifse fw 359 /9 F99 999 F 50
is/are sufficient to answer the question. < & fou gaie 2/%?

. Wi ] K LM SR N, ST s® H AR Hg
five friends J, K, L, M and N, facing the VI\ Fh 93 %ﬁﬁ*r%waﬁaﬁr{ﬁh%ﬂ?

|
!
|
|
|
|
|
|
|
|
|
North ? ! 37
|
|
|
|
|
|
|
|
|
|

Who is to the immediate right of ‘]" among

.. "L’ is third to the left of ‘K’ and T is | R R - R AT TH /e 3R T,

second to the right of ‘L. L AT 3R T ) T
II. ‘K’ istothe immediate left of ‘N’ who is I ‘K,‘N & USHeH 9191 3R & S I & T
second to the right of ‘J", AR Q{Iﬁ WM |WE

(I) The statement II alone is sufficient to

answer the question while the

statement I alone is not sufficient. oI qate =& Tl

(2) Both statements I and 11 together are (2) HYE-1 3R FYI-1 3Fl, Toaa 999 &1
necessary to answer the question, SW <1 F fau smavas §)

(3) Either statement | alone or statement [] 3) = Gl FYFA-1 3Tho AYAT FYF-] 3TFA
alone is sufficient to answer the i AR ITWAF o g ©
question.

(4) The statement I alone is sufficient to

} (4) W—IWWWW%%WW
| © S FUA-11 3Tha) W9 S &
|

-

answer the question while the

statement Il alone is not sufficient.

fore vt = &

B
PGT-HIN-2023 % 12 Q2



131 21 e fau o # o 3 afusRaa (A) A
e (R) 3 &0 d g T &1 2 FA A
A fa=m Fwifem |

sifirRe (A):  fava H Fd @A Her U
TiafT T A T 2

75. Two statements labelled as Assertion (A) and 25.
Reason (R) are given. Consider both the
statements carefully.

e ——— —

Assertion (A) : Fake news spread in world
has become a serious
problem. _

Wy g

Reason (R) : The internet is source of all

fake news.
ﬁ%ﬁ’qmwﬁmﬂmﬂuﬁrwm‘rw
i | -

b (a) R @) S E R R, (4) T
g AN T )

/

|

|

|

|

|

|

| )
} (2) (A) e g o (R) Fel
|

|

|

|

|

|

Select correct answer with the help of code.

(1) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(2) (A) is false but (R) is true.
@ (A) " T R (R) O €

@) (A) 3R (R) & TE ¥ ST (R), (A) F

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

26. ﬁﬁﬁfﬁaﬁnﬁwmﬂ?mﬁﬁﬁﬁaﬁm

26. Which of the following Venn diagram
represents the best relationship between o= gaiad Had ﬁ?-ﬁm &Hdl ©
Teachers, Sisters, Females ? 37T, FE, "Tﬁﬁm

T —
—

~ ]
@ . . .1~©"

N
.

K
(2)

(3)

!
4

i Q2

<
--\'f:
I“r
r_l-z_
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27,

28.

Three Statements are

given followed by two
conclusions ]

and 11.
statements lo be

Assuming the

true decide which of the
conclusions is/are definitely true,

Statuments ¢

1. M:::-Q
2. P>=M
3. N=M

Conclusions s

L. Q=N

II. Q<p

(1)  Only conclusion Il is true.

(2)  Both conclusions | and I are true.
(3)  Neither conclusion I nor II is true.
(4)  Only conclusion [ js true,

Study the given diagram carefull

answer the question. The numbers in

different sections indicate the number of
persons.

Salaried

>

. Married

17
Under 35 Years

How many “Under 35 years’ people are
‘Salaried” but not “Married’ ?

(1) 8
(2) 12
(3) 13 *
@) 5

|

—L .

f
r

!'

14

27. ?ﬁ?zﬁmﬁqm%’ﬁlﬁaﬁa’!ﬁﬁﬁt{laﬂin
feu mu € mwzﬁrwnﬂagq%ﬁvhw

ﬁ?aﬁfﬁrﬁﬁﬁfﬁﬁﬁﬂ?mﬁﬁﬁa@mﬁq}i
g/e7? HI

HUA : -

e N> O

2. P=M ey
;mNEM /N_SM

. Q=NA

AL Q<P

A e P ar e 3,

(3) qa‘fﬁﬁwﬁlm%mﬁﬁaﬁw[n
(4) e e [ we

y and | 28. 9 QU T stivE w1 e semm w5 sk

TR R IW S | fafi= @i § < 78 g =i

i & o7 2T ey ¥

'35 7 & 1’ TR fre o € S A @

¥ iy Pt 42

2) 12
(3) 13
4) 5

Q2



29. sudha is the wife of Anand. Kavita is the
mother of Gaurav. Anu is the daughter of
Ravi, who is the brother of Aryan. Anu’s
mother Kavita is the daughter-in-law of
Anand. How is Sudha related to Aryan ?

(1)

(3)

(4)

30. There is a family of six members D, K; L; M,
N and P.
Businessman, Executive, NGO worker and
Singer but not necessarily in the same order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who is the
mother of ‘L’ and ‘P’. ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an
Executive. ‘K’, the Businessman, is married
to ‘D’. Of the two married ladies, one 1s a

Mother

Paternal grandmother

Maternal grandmother

Gister

NGO worker.

Which of the following statements is true ?

(1)
(2)
(3)

(4)

‘M’ is the Executive.

‘M’ is the Artist.

‘1’ is son of ‘D" and i T

‘K’ is the wife of ‘D".

They are Lecturer, Artist,

15

29, gm,mﬁaaﬁqﬁr%lm,ﬁmaﬁwﬁl
a1, <o 1 T & SN S 0§ 1 37 A
e, o7 i GAAY B gu[maxrﬁqﬁw

ey §?

(xy Il , "
M2 -:_

(2) <= "

@ @*

@ i

30. WWD,K,L,M,NWPWQEW

%uém@m,w,wﬁrﬂ,w,maﬁ
Sl 3R T § fhg 9 T w9 @ U
EYIF el © | @ﬁaﬁaa‘i‘%%l el ‘N
=1 9T T FETHR g8 € o L7 S P P
a1 P TR UeR W el DR
73 @it T U ¢ S T yeEs @1 K T
FRET & frgent foare ‘D’ | g0 €1 featied
Hfeenaii T ¥ T TASHST HrEEHl €|

frefafaa § § HF T HUH HE © 2

(1) ‘M’ T TIEH |

(2) ‘M TF FAHR T

(3) ‘L, ‘D @ ‘K’ YA &
K Ak kAN

Q2



PART - Il / 4T3 - 1
KNOWLEDGE OF ICT / ICT I g1
frefafaa & @ FH 91 21 21 TER-2000 F i

31. Which of the fﬂIlnwing does not come under l 31.

cyber-crime under IT Act 2000 ? - U TEE ATAY TE @
S
(1) Distributing child pnrnmgraph}r over (l) 'Q"ET.%E g7  H9bTd ‘EH‘?('FII'Q'I qTFER
mternet (por ﬂﬂgfﬂPhY) ferd e T

(2) EeTAe W ST STHHR H1 SETEN F1q

9 - .
(2) Misusing personal information over

internet
(3) Using fake email messages to get (3) SAfFasr THHRI I FH F T 3
personal information 3-Hal (fake email) HHST T TIMT H7T

32. '
McAfee Plus is an example of : 32. Hh®Hl 9 (McAfee Plus) &9 & e

|
|
|
|
!
|
(4) Stealing monitor from a store ; \/(4) ferdt =R 9 "R el
|
|
|
|
|
|
|

g7
(1) Application software (1) THTHIA HWHETX  (Application
software)
2) O g
(2) pen source software i (2) A9 Wi HwRIA (Open source
: software)

(3) Programming Language (3) mﬁ"éﬁ(ﬁngramjng Language)

(4) Anti-virus ) T IRRE (Anti-virus)

|
|
|
|
33. Outofthe following options, the most popular ! 33. Wmﬁq@ﬁ@ﬁ (MS windows) T&THYA
ﬁwﬁﬁm%w@‘m'mﬁ%m
:ﬁtrﬁﬁﬁaa fawedt & 9 waifus ez
- ' G RiF-T1 &2

combination of shortcut keys to Copy Some

selected text in most of the MS windows

applications is :

|
(1) Ctl+O } (1) Chl+0O
(2) Ctrl+P ’ (2) Ctl+p
(3) I B C
trl + X
(4) 4 Cutl+cC

PGT-HIN-2023 Z55i 16
Q2



34.

35.

36. The power backup device, UPS, stands for :

37.

{J — =

which of the fnllnwmb software you | 34.

preferred most to dembn an animalted
multimedia presentﬂhm] On the topic ‘Benefits ‘

‘Afaftren s1fh feguae Ty’ farm o o
Wmﬁmwmwmm
aq Frefafaa o 9 @ 9 i F F9ius

of Renewable Energies_’l- 2y rerfiraRan #9 2
(1) Microsoft Word (1) WmERmEE T (Microsoft Word)
(2) Microsoft Excel (2) HEHEER THEA (Microsoft Excel)
(3) Microsoft PDWETbUth (3r uRHIGITR qrEi@EnEe  (Microsoft
PowerPoint)
(4) Microsoft Edge (4) HISHMETR TH (Microsoft Edge)
|
Which of the fnllﬂwmg_clﬂud storage service % 35. HIHEIE 'é? e mﬁw =i gfad
owned by Microsoft 2 — i frafafaa 3 4 sF 4t €2
(1) OneDrive = I (1) One Drive
(2) Floppy Drive _:__-_—_ % (2) Floppy Drive
(3) Google Drive ____: ! _A3) Google Drive
(4) iCloud _ (4) iCloud
isﬁ. qTE AT IS U™ (UPS) & A9 ¢

(1) Under-controlled Power Supply | (1) Under-controlled Power Supply
(2) Uninterruptible Power Supply E (2 Uninterruptible Power Supply
(3) Uninterruptible Puwer System : (3) Uninterruptible Power System
(4) Under-control Power System (4) Under-control Power System

a source of the

Which of the fullnwmg is nnt

37. ﬁmmﬁﬁﬁﬁ?wmﬁqmﬁw%;
3T &1 TF §id TRl © 2

virus entering your sygtem ? i
(1) Hard Disk g |
(2) Pen drive

(3) Printouts

(4) Email attachment

17

(1) wrE fewh (Hard Disk)
C(2) 97 gEA (Pen drive) -
SEVIEEIE (Printouts) «

(4) ¥-f@ =M (Email attachment)

Q2



38. Which of the following is an example of an !

Operating System ? I

|

(1) Edge |

(2) Word

Windows

(3)

(4) Bing

39.  Which type of network we create when we
connect two smartphones to transfer some

photos through Bluetooth ?

(1) WAN

(2) PAN
3) LAN |

4) MAN

40. Which of the following groups of devices are

only input devices ?

(1)

(2) Keyboard, Printer, Light Pen

Joystick, Microphone, Scanner

|

?

|

|

|

Mouse, Microphone, Speaker !g
|

|

|

|

|

(3) |
j

Mouse, Monitor, Joystick

(4)

E)E
PGT-HIN-2023 5%
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38.

1

freafafaa @ @ #17 @ ATRET o=y
(Operating System) 1 Teh a6l § 2

B, ; 1

(1) (Edge}

(2) == (Wﬂrd)

)

(4)

e e . - i i b

ICEG (Wm{:fﬂws)

L s |-|-

fam (Bing)ff—i

<1 g9 &2 (Bluetooth) & W § $3 B3
U571 o fTT &1 TIEEM T A9 § Fa Fre

@) TT Qf_fr gmN)

_-_-.

2) WTTA (?f’}'fi)
T U fEﬁN)
(4) THTWTA (hj__{xN)

Ffafad & | Syl 1 9 @ 998 F9
T feamy (Svstm) 2

a1y, nrsﬁtﬁﬁ T
Mzcmphﬂne Speaker)

(1) (Mouse,

HI-A1E, fslm: g2 9F (Keyboard,
Printer, Lxg‘nt Pen)

_____

Mlﬂl‘ﬂphﬁne ' Sc*mner)

-_-.-

HI3Y, Tﬂ'*ﬂ?{ GiTqFEH?(Mnuse Monitor,
Joystick) ,-

(4)

Qz



PART - IV /| 9T - IV
TEACHING APTITUDE / f1aro1 aif¥gf

41.
propositions and deal with propositions

instead of objects. He deals with sum total of

possibilities rather than empirical situation. l
He takes final steps towards versatility in |
thought. l
Mohan is at which stage of Piaget’s model ? }
(1) Sensory-motor stage l
(2) Concrete operations stage l
(3) Formal operations stage i
(4) Pre-operational stage I
42. Which one of the following is not associated ! 42.
with a unit test ? j
(1) Confined to limited number of %
competencies ;
(2) Totally controlled by the teacher i
(3) Used for Remedial purpose ;
(4) Standardized Achievement Tests
»

43. What is not an advantage of Discovery

method ? :

(1) It develops scientific and critical I

attitude among students. i

(2) It provides training to prepare students |

for life. '

(3) It develops self confidence and self l
reliance.

(4) This method is suitable for the students

of lower classes.

BB
PGT-HIN-2023 .ﬁ’% 19

Mohan c¢an now think in terms of I 41,

Hiree a7a AT 3 A T TR & e A
a3 amen AT | FTEER HT THRAT &1 AT
iz s W A el & e a
TR F 21 dg faan § sopEda AT

foreyifra & | FIF T T THE T H FaAG
Tl & 7
(1) et =1 Ffa@ He o T

(2) Toer g guid: G
(3) SUERICHE Hd &g FIH
(4) HERIHA FIITQ TIE

e fafer & 2 T A T a2

A 3EE ER faenfefal & awas AR

et ity @ fam 2 ¥
(2) 7 faenfefdi 1 S & g wm e
yfRrerer geH i € |

(3) =R g STcafavary S ST
farerrd 21 € | 2l

() o fafu S wensll & faenfell % fom
U € | e

Q2



44. Which characteristic dooes not belong to | 44. fereil & =nr Gt fervraar =121 g St € 2

Adolescence sta ge? |

!

(1) Forming TOUps among members of (1) aurF fem = =t % My g

SAMe sex

(2) A period of intense emotions i (2) S G R HT .

(3) Highly critical of social evils and 3)  Hmifse qUEd @ A= F ufa favm =y
injustice ll g 29 294

(4)  Pronounced group loyalty | (4) 3oF= Ugg gfaggan

I

45. =it 4 9 =9 'afrm F ey F
3T &l & ?

45.  Which of the following is not an example of
‘Assessment of Learning’ ?

L T T e

(1) Assessment of Homework

(2) Schnlarship Examination \[2)/ E’a‘lﬂqﬁfﬁw
(3) Anecdotal Records ! (3) Il AfveE
(4) Annual Examinaton | (4) @ giien
46. The ASSURE model of integration of ICT in | 6. M e § g &R 5w s
the learning process has the components : 9999 % ASSURE WigHH F 37999 g :

(1)  Activity, state the objectives, support ; (1)  Toren, el =1 fequn, Wieame iR fam)
and extend.

(2) Analyse the content, state the aim, i (2) fawmesg =1 favem, ey femo, fafy
select method and materials and | 3R G T =T aﬁ'{fj@félﬁl
evaluate.

(3) Analyse the learners, state the aim, (3) eIftrTHRTisT fereeroo, Tax i,

fafy sk wmit <51 999 ai famw

select the method and materials and

extend.

) SRS 0 faveron, s e
HIEeTH 3R |t o = aik gl |

(4) Analyse learners, state the objectives,

select the media and materials and

20 Q2

evaluate.




47. which one of the following is not a | 47, fuam &f=a ITH #1 Frefafaa § 9 7 9@
characteristic of teacher centred approach ? ferdroen =& 8 ?
(1) Unfamiliar or abstract concepts are I (1)__3‘;;&?{]";:[% T @gd 9d foed g1
directly explained by the teacher. @a-die oarenfad e ST
(2) Enough scope for discussion and debate (2) =1 3R arg-faae & eyt a7 Bl zl
is available, '

(3) Courses prescribed can be completed in

(3) fafea arewasgsdi w1 Tqd T A

time. ! gFHdar e
(4) Large sized classes are handled very l \/(4) oS ATHER Y FAM, A= JehR HAferd 2
well. ’ | ST € |

Effective teaching, by and large, is a function | 48. HEA: gyrelt T9re7or fehdaht ThTE B ?

48.
of :
(1) teacher’s scholarship. (1) Toers 1 difed
(2) teacher’s positive attitude towards \/Qf TS1e1eR bt forequr & 9fd HhRIcHS d?f'ﬂ":{ﬁf -
teaching. :
(3) teacher’s ability to make students learn. ; (3) foenf¥ai ® st =0 g ki AFFdl
(4) teacher’s honesty. § (4) forereh 1 A2
49. What should not be a role of a teacher in the i 49. Taenfelai gra 9 F AT H04 H S i
construction of knowledge by students ? ! i G yfHehT Tl BT =1eT
(1) Supporting  cooperative  and | (1) Fa-he] § Teanil Td FeuThiargul ST
collaborative learning in the classroom ; EIRSERHERCTE] <
(2) Focussing on realistic approaches to g (2) Sredfaes fava &1 9aEsti & Y T
solve real world problems e SUMTHI 9T Shalehil
(3) Discouraging self analysis and self g \/(3’}/ Aoy § WA Sl garcdied HalX
assessment i
(4) Being sensitive to the previous ! (4) <hETl F g faene & q@iqvd & gfd
experience of each and every student ! Haeaeieadar
in the class :
50. If students are not taking interest in their j 50. e fareneft s1ot e | 4 &l RECEIGIRLURED
studies, the teacher should : &
(1) tell them that taking interest in their (1) 3= QEEH =gt foF 9o | &H ¥
studies would lead to good result. I 3T= gfomy Wi 2 -

(2) file a complaint with the principal and | (2) wrET iR ITh Hrar- o & forErra T
parents and seek their indulgence. 3T 3T ey i =i S A

(3) find out causes for lack of interest and \’(3')/' ITeh! ek H Tfd | A & RO HT Tl
take corrective measures. GUIETES CINREED FEE HLl 7

(4) ask them as to why are they not taking (4) BAH YB feq fom 9 9aR d T F T8l
interest in their studies. AT

21 Q2
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PART -V /41T - v {

4

53 Y'mz . v ]

meﬁﬂiﬁﬂﬁ%? 3 m%,mﬁﬁﬁﬁaa%ﬁaﬁfﬁaﬁmgﬁ

mﬂkmm}mfﬂiaﬁﬂmﬂwﬁn

() 9 & smw 1960

TEIA 1A Rl F AT E
! (1) feae
(3) TS firam 1976 ;
[ (2 =y
(4) TS rfufm, 1963 (3)  din
|
jl 4) TFUem

' LA
(1) HRAYYY raEra l, v e
|
l (1) =% B
(2) THfGAE i
(2) VAR we™
) e fag

Q2



s, FreAtetten 3 8 T-fagia' g & v ¢ | Frefafoa wriv # omdE o s oo

‘ 3 3enfia Uyt (58 - 62) @ WEHR IAT AAfa
v(,l) BIEGHE ST } ‘
(2) = E"*& Hi= ATe Y 1 e TE 8, 7 iy A
(3) Tden S L ! IS HHEH TE ¥ | T AT T 77 M A
% & e 3R F2 T ¥ A dwd A guw v wE
(4) R ! ;IET?j T, 98 € X a5 | Yo Hied w1 7 77 |
F9 TY-{1 i aU UHY 2t ¥ S 2y uA H o A

| oS & % fore gard) 7 W o Afusm #7 o0 £
56. ﬁﬂﬁ@ﬁﬁm@aﬁqﬁ =T A 2 Fm%ﬁﬁ@mﬁaﬁtﬁﬂm LA oh[ 9TIAT &
l &9 H gl Yi0Td 81 SI1d € | g9 A=1591 %] J2] a7 -
:. ; ————ee— \ - s - -
(1) TSI 3R Toe & fers | aftofa ded # emufa ¥ 3EE faa 5 ﬂﬁ
Ao | i1 IEIU TGl Bt § ol qaiia =1 f5=3=1 Jra=1 =97
79 H $9 o feoh €1 & urdl 3R T "EiEs
o 9 edt B N9 o F THs I9 W 9ET 3
SHE IS TUIGR SRR RSIEED ?ﬂ"ﬁ 39491 B 98 9]

|
|
|
:
|
|
|

(3) THF T =

58. Higd I YT T :

57. dfaum Qa9 fe<i &1 99 &1 TS99l SRR
IERIRICIE (1) &3l 1 a7 & ®9 el ST

14 fada7 1949
) - ﬁr EHTQ Tl 6 F 2l 8 S
(2) 14 fAdeR 1950 ¢
(3)  wAfae snafa-dl i el
(3) 14 fadgar 1951 LG

(4) 14 TAd=R 1948 \/(;{ HIT 3Tl i dSTRI qivifd

B7)E
PGT-HIN-2023 E%’“ﬁ 23 Q2



59. aﬁq"?ﬂmﬁm‘ﬂﬂWlﬂTﬂﬁﬂﬂﬁTﬁ#ﬂm 62, ['Iﬁllfﬂmﬁﬂﬁrfﬂ?ﬁjﬁqﬁg?

BREIRIE R -
(1)  fam &l #) w=a: vpd sifwerfa 2 il ?qaqmzﬁr[mmmﬂqﬁ‘ﬂﬁ‘aﬂm
() e e o e el =)

| m-m*:ﬁaﬁﬁfaarmmmm%l
(3) WA % e wiE 1 e @ - | (3

{ (4) o T gIF dcd FE T4 TRl S
(4) el e & fag 2 |

60. Hicd TH & Hfiqt i °aE] € TE : | ‘ Al
(Y S TS 8 qy e A
(2) A 1 IEHE T (2) |
(3) Hﬂﬁquﬁ%mﬁﬁl i (3) 9=
(4) 7o =1 Ficd @ | i (4) HGoEATHSA




' o e 1
s, i e A 2020 ¥ ergen Frafafea W 4 | 67 Wﬁm%wm%
ety fargia & S =e W R e gonet 31 W AR B
' ] 4 -
faTTa GEAM SF1 1 AFIGeA g S
(A) gerE a1 Fi fafvre aaisti &l 9gu 5 i
!
(B) W@ s o e
(C) ERUIEESIRSSINC T ; (@) T
|
(D) qfrardt TeRl 1 Faieeh Fere
68. Wﬁw%zazn#wv@ﬂw;
e | e T 1 e S e
| 3 fepan ST ?
) (A) 3 (B) FT
(1) 2028
() (A) 3R (C) F L -
@ () () ©) 5 3 2032
g (4) 2026
!
%ﬁmaﬂﬁmsﬁmaﬁwﬁ]
“ te el %! | H THh ©
o ‘aﬁmﬁ }69 gyl TR
| GEIEE
(1) sifadra JreA | (1)
() ferrmareg 1 faRer
(2) A fa=dd |
AB) [ELERL
3) T
| (4) ffyaa 38
gl A1 A
7. 25

e
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70, T@qﬁ’mﬂ?ﬁﬁ i " .a
B m@%ﬁw“ MR Hag | 72w faan it 2020 ¥ SER et o ﬁ%

ailiita | | o e o T 7 g

‘i et yomett 3ty wferra T %1 AR

)R i et & o a2 s N i o
ﬁwmﬂmaﬂm&]mﬁmmﬁqdr (1) 9d® 9= st fafire amaa F1 wam

Uy izﬁfmmmﬂrmaﬁaﬁ;mi Wiwmwmﬁgwmﬁ
| N (3) ==l SR R o el § vy

e =fifd 2020 % srrER fremr-sifim 3 quft

Wﬁwﬁw%ﬁgqﬁﬁwmﬁﬁmwl
22 A '
(1) <aHIa d=q
(2) T ¥ for furem s e i
(3) ACIEA gedida it giemd 7
|
l
26

i 74.

qari feehrd W aAfam sim a7

(4) I a1 1 fafore amanedi 7 ety

Q2



75. ﬁmﬁrﬁaﬁﬁﬁaﬁﬂ-mﬁau aimmmmﬂ‘rﬁﬁl?a Herd yare fgardt 3 ' aweErdt’ afm 1 Huea
gr fafad J& & 2 I T JRY feram o
|

(1) SR SR ¥ - €. (1) &4 1901 33

(2) FHIERAT | (2) &7 1902 EH
* |
Y TR =2, @y 1903 L4
(4) SR &l G . . (4) |9 1900 T
76. TrAlaiEd | 37HTd g § ;——— 79. TEAI AR AR H gAferd =& ¢

- "

|

(1) mﬁmw—mma’m g (1) FSARTR - 3J
|
|

2y T&=<1 ifaed =i 31IQ'|IUI"1? mﬁﬁ‘@'ﬁ‘ﬁj!

(3) %[Fﬂq1H¢”lﬁi§¥mT~ﬂEﬁ’ﬂmf§é\'cﬁg (3) qEfed &1 s - e wEmE

(4) ATHE FEEAT — IS AUl i (4) G H Hfedr - HeRE gH

77, Freffan 1 oA T T § o E | 80, Frefetan 3 g AR (T

(1) oEmEE - A T _ P . S
T et - st N | s

(3)  HMEA F1 qAdeaiw - gfaaEy (3) R fiE

(@) s - foreer fefe <t o s NOR

FGT—H|N.2023 % 27 Q2



il

81, Tt e faidl @) faden g smard | e, R e H G
TR YA 3 qera: fadu o on -

qHeR! g oTit dTSr
(1) =19 =

<ol % TN €
(2) TZF F =

(1) ﬂﬁﬁﬁaﬂf
(3) T, T 3R Z2F 9 =

(4) o= &

|

|

} () A
|

(3) e et Fren

82. ‘T&= wroavre w1 fasrd’ A A= & | (&) THIR foz fee

%éiﬂﬂl‘:%: !

e a—

(4) T YEA

& i
g3. ‘‘fav vy gl 9g 9gHl 37Tl |, 99 Wil |

99 qfed 779 = -, T TTel A qe i1




o, freAfarEn # q BA-w G w1 fagia @ 22 | 90, womd e fgadt ¥ 3w @ wafva FreAfafa
el B | BT HE T €2

(1) 9 ichdl
(2) WgeH i
|
/3) qeEdl #
(4) T P LS #
|
|
|
|

Freferfan & @ FrA-9 T S e #
¥7

88.

(1) <hIEl 1 HEER

\/(zj FHHAEN &l B8R

/(/1‘)

(2)

(3)

(4)

(2)

(3)

(4)

‘aredeer@’ B @ A 13 o AR 14 =i
reft o1 wi e gfaera fafia &t i =
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PART - VI
GENERAL ENGLISH

131. Choose the option in which the

following | 136. Choose the option in which the following
sentence has been changed

words/ phrases have been rearranged to form
a correct sentence.
(A) people gave ./

into p L'manr: voice.
His attitude vexes. me sometimes,

) Tam vexed by his attitude sometimes.

(2) lam vexed: a{ his attitude. (B) President .
(3) 1am sometimies vexed at his attitude. (C) h?m support
(4) lam Vexed@}}é his attitude. (D) him -

(E) having elected
(1) (B), (D), (C )())(A)

s

132. Fillin the blank mﬂ1e following sentence with

the help of given ﬂphﬂns (2) g ) ((B;, (( )) ((A) ((Ei y
The tr bot 1 (3) E), (D), ;
W;E ain was ?he:etto eave the station when \}4) ( ) ©), (B), (B) (D)

|
|
|
|
|
|
|
|
i
;/{? wmu}l‘d;each ! Directions for question number 137 and 138 :

(2) reache i Fill in the blanks in the following sentences with tie

|

|

|

|

|

!

|

|

|

|

|

i

help of options that follow each of them.

137. The witness will what I have said.
(1) bear up
(2) Dbear out

v(j})‘ bear with

(4) bear on

(3) have reached
(4) had reached

——m e

Directions for questifun ﬁumber 133 to 135 :

Eill in the blank in eacl ﬂf the following sentences with
the help of given options.

"E 138. Can you tell me how the accident ?
133. Nitin as well as___-l'_njs"-gfriend Ramesh (1) came about
coming to the party. (2) came up
(1) are * (3) came by
(2) were L A came down
A) %mve been 139. The troops were ordered to mobilise.
(4) i Choose the word which is nearly opposite in
meaning to the underlined word.

134. Today, the need of common man
just bread and butter.

(1) dismiss
(2) convene

(1) are 3] line up
(2) was (4) retreat
(3) were

140, He delivered the speech with great aplomb

oy is
13 e s Which of the following words can correctly
5. Mrs. Kanwal I§ e Principal ol this replace the underlined word in the above

— p————

school. ' sentence ?

(1) an LY/ , A1) confidence
“‘({)' the ’“ (2) apprehension

(3) no article { (3)  disquiet

4) a 5, 8 | (4) diffidence
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